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library (tidyverse)

#% —- Actaching pgeckages --—-—————H—H———-"H6—"17+—"—+—"\(+""[+"H+—"f"\-\"""7"-""-—"""""-—"H""-" """ """ """ " " (/" (" (" (" ("""~
————————————————————————————————— tidyverse 1.2.1 —-
## v ggplot2 2.2.1 v purrr 0.2.4
#%# 4 tibble 1.4.2 v dplyr 0.7.4 . .
- o - L] Sy VY ) — gy 'V
## 4 tidyr 0.8.0 Y stringr 1.3.0 - tldyverse}\\ya'—y(‘_a*h%}\\\}b‘—yﬁ
#% 4 readr 1.1.1 y forcats 0.3.0
## -- Conflicts - -——————"H——H——"-"Hm"—m——_—————————————————————————————

——————————————————————————— tidyverse conflicts() —-
#%# x dplyr::filter() masks stats::filter|()
#%# x dplyr::lag() maszks stats::lagl()
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ggplot (diamonds, aes(x = carat, Vv = price, color = cut)) +
geom point () +
facet grid(cut~color)
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